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QUESTION 1

Which functional size (FS) is associated with the measurement at any time dring the application\\'s lifecycle?
A. Application FS

B. Adjusted FS

C. Enhancement project FS

D. Development project FS

Correct Answer: A

QUESTION 2

The Insurance Claim application has a file for Claim Information which is used to capture 127 pieces of data about each
claim that is submitted. The Claim Information file stores the data in four groups: insurance policy holder, claimant,
nature of the claim, and scanned images of all documents related to the claim such as receipts and photos. How would
the Claim Information file be counted?

A. 1 ILF with 4 RETs/127 DETs

B. 1 ILF with 3 RETs/126 DETSs (scanning is technical so the images aren\\'t counted)

C. 1 Claim ILF with 3 RETs/126 DETs and 1 Image ILF with 1 RET/1DET

D. 1 Claim ILF with 1 RET/125 DETs and 1 Image ILF with 2 RETs/2 DETs

Correct Answer: A

QUESTION 3

Which transactional function cannot alter the behavior of the application?
A. El

B. EO

C.EQ

D.Both Aand C

Correct Answer: C

QUESTION 4

Which of the following statements regarding the counting scope is true?
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A. It defines the set of Functional User Requirements to be included in the FP count
B. It always includes more than one application

C. It determines the purpose of the applications being counted

D. It defines a (sub) set of the modules being sized

Correct Answer: A

QUESTION 5

Which statement(s) is (are) true for an elementary process?

A. It is the smallest init of activity that is meaningful to the user

B. It is the smallest unit of activity that that leaves the application in a dynamic state
C. Itis the smallest unit of activity that constitutes a complete transaction

D. Both Aand C

Correct Answer: D
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